Notation Scientifique (I)

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

7,082 x 10* = 65 000 =
5029 x 103 = 1384000 =
9,69 X 10° = 2 540 =
7 587 = 8,6 x10° =
54x107 = 7980000 =
68x 107 = 920000000 =
4,62 x10° = 710 000 =
8,272 x 10* = 6,1 x 107 =
715 000 = 6,53 x 108 =
9,97 x 10° = 59%x107 =
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Notation Scientifique (I) Solutions

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

7,082 x 10*

5,029 x 10

9,69 x 103

7 587

5,4 x 107

6,8 x 107

4,62 X 10°

8,272 x 10*

715000

9,97 x 10°

70820

5029

9690

7,587 x 103

54 000 000

68 000 000

4620000

82720

7,15 x 10°

9970000

65 000

1384 000

2 540

8,6 X 10°

7980 000

920 000 000

710 000

6,1 x 107

6,53 x 10°

5,9 x 107

6,5 x 10*

1,384 x 10°

2,54 x 10°

860 000

7,98 x 10°

9,2 x 108

7,1 % 10°

61 000 000

653 000 000

59 000 000
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